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Rures of My N
Key Coucepi—> Properties of Operations ‘ﬁ'

Words The Commutative Property states that the order in which [+ (i "'3‘) -
i numbers are added or multiplied does not change the sum X
Wovk Lone or duct !1‘ 5 = b
product. M
g: 5.4 3¢ Ve il
Addition Multiplication ( [+ Aj +3
e z -2 . p? z
=54 ‘f Symbols at+b=b+a a-b=b-a » &3
_ Examples 6+1=1+6 7:3=3.7
g P55 e 30+ (70+99)7
|
- e /? - /{0 h‘ Words The Associative Property states that the way in which numbers 30+ 700+ 757
are grouped when they are added or multiplied does not change 200+ 45:;.?5
the sum or product. e
=k Rdieha As Additi éf?’”ﬂrrﬂ Multiplicati (513
ition 0 ultiplication ?z, 5./3) =
59 +4] /% = 2/3
Symbols a+b+c=@+b+c a-b-cl=la-b)-c = 20
(4,5‘) WER
Examples 2+(3+8=(2+3)+8 3.(4-5)=(3-4).5 )
A property is a statement that is true for any number. The following
properties are also true for any numbers. R /,_25 +/l=
ﬁ‘ Property Words Symbols Examples  _//, // +33 i3
When 0 is added to any number, a+0=a ¢+0=9 o+ 3¢
3 c f‘5 Additive Identity the sum is the number. 0+a=a 0+9=9
v F 3 =l Multiplicative When any number is multiplied a-1=g 5.1=5
C1' A0 i Identity by 1, the product is the number. l-a=a 1+5=5
Multiplicative When any number is multiplied a-0= 0 8:0=0
Property of Zero by 0, the product is 0. 0-a= 0-8=0 O
ye 0%
/1(2.9)- 3}(9 Y 475Y-0.02) = ©(72. :ﬂ( £\ 475)00.0%)°
Tutor
( Example J
1. Name the property shown by the statement
2:(5+n)=(2+5)+n.
&/ Shon The order of the numbers and variable did not change, but their
[ivork, | grouping did. This is the Associative Property of Multiplication.
A ==
 Got 1#+7 Do these problems to find out. g
b, aN+x+y=42+y+x b. 3x +0=3x
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